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Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

540201 =21
5401201 =12
541201 = 7
541201 = 3
504201 =19 %%

www.mathemonsterchen.de

ormerio

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

7()5(1)3(11=37
7()5(1)3(11=33
(50301 =21
(5003001 = 9
7()5()3(J1= 5 %%

www.mathemonsterchen.de

ormerio

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

6( )54 )2= 3
6( )54 )2=28
6 )54 12=32
6504 J)2= 9
65412 =24 %%

www.mathemonsterchen.de

ormerio

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

FO)6(4()2= 9
()6 W12 =14y
()6 L 12=29

www.mathemonsterchen.de






%) it (=) wna (0)

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

8( )6 L[ 13=19

8( )6 L[ )3 =u7
8©6OHO3=B

8( )6 L 13= 2

86 413 =14 %%

www.mathemonsterchen.de

ormerio

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

9(J6( )5 11= 8
9( )6 )5 11=58
9()6()5()1=50
9()6()5()1=10
9@6@5@1 = 38 %%

ww.mathemonsterchen.de

ormerio

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

8(J7()5()3=16
8(J7(J)5()3=0
8( J#()5()3=54
8( J#()5()3=58
817 )50 13=140 %%

www.mathemonsterchen.de

ormerio

Setze die Rechenzeichen so ein, dass die Gleichung stimmt.

9 413 J1=10
o Lk J)3(J1= 8
94301 =20
94301 =34
o I4(13(11=38 %%

www.mathemonsterchen.de
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